Quiz 3

Name: Student Number:

1. (4 marks) A 1000 kg car travels around a bend in the road that has a radius of 200 meters at
a speed of 80 km/hr. The bend is not banked.

a) What is the centripetal acceleration of the car around the bend?
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b) If the centripetal force is to be supplied by friction of the road on the wheels, what must
the coefficient of friction be for the car not to slip?
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2. (6 marks) A mother pulls her two children, each of which is in a separate sleigh. Two
sleighs are used because the children fight if they are together. The sleighs are attached by a

rope. The mother exerts a force of 40 Nt which is applied as shown below. For simplicity,
we ignore friction. 4
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b) What is the tension in the rope connecting the two sleighs? N QMM
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Total = 10 marks



